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COM M476 YNGVE ENGLISH 10 PUNCH
% § 5 -THE=-DATE-IS-+X-bk.//*RSLE, *WAM1 2 3 #
* $ = =Mk4x7k8=-PUNCH=-OUTPUT*. // *WAA1l *
% $ = ~THE-TIME-IS-+XHR, //*RAL2, *WAM1 2 3 *
*$ak(+tx0+*%0 +x%0 + %) // Q1 12345 CT
START $ = *1/1 + E // PRINT NO $
S$1 431 =1+ %A 42 /) *E1 %
* § 4 %A - $1 - // Q3 1, *N2 2, K2 3 SENTQ
PP $ 4 %A+$14$1 // Q3 4 1, N2 2 , *N2 3 SENTQ
PRINT YES $1 =1 4+ A + *%. // *%A3 2, #WAA2 3, PRINT NO PP
NO PP
P$1 +2=14+%A 42 + - // ¥E1 PRINT
ENTR $1 = $
E$2+3%2=// %22 %
D$2+3$2=1A+A+2 // 22, :N2 3, ¥S2 432 $
% $ = *.-GRAMMAR-ERROR- + 1 + *.// *WAM1 2 3 FINAL
SENTQ $2 = // *X3 LINEQ
FINISH $ = A + %.// #A3 1, *WAA1l 2 CT
LINEQ $50 = // PRINT YES, *X3 ENTR
% $ = // *X3 ENTR
(GRAMMAR OF 10 ENGLISH SENTENCES)

1A $2 = x2/2tE P
2 $2 = X3 [BISHK7 [7+S E
3 A $2 = %4/44D P
4 $2 = %5 /54546 /6+S D
BA $2 =%%+W/.2 P
6A $2=. +W/.1 S
7.A $2 = *%8/8+E P
B = *1%7 [174E P
8 $2 = *9/94S+k1%6 /1645 E
9 A, $2 = *1%0/104F P
10 $2 = *1k1/114S+x1%6 /1645 E
114 $2 = *1%2/124D P
12 $2 = *1%3/134S+k1%4 /1445 D
13A $2 = WHEN + W P
144 $2 =, +W/.1 8
164 $2 = *1%7/174E P
17  $2 = *6%0/60+1Stx1%8/18+S E
184 $2 = *2%1/214E P
B = *2%1.%5/21 .54E P
C = *2%2 [224E P
21  $2 = *2%3/23+S+Hk3%8 /3845 E
21.5 $2 = k%3 /23+58k3%7 /3745 E
22  $2 = k%4 [24+S+k6*2 /6245 E
23A $2 =IS AW P
24A $2 =HAS ¥+ W P
B ~ = KEEPS + W P
(o] = MAKES 4+ W P
D = *2%8 /284E P
E = %35 /361E P
28  $2 = %2%0/20 +5hk3x1/3118 D
20A $2 = HAS W P
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*3%2 /32+E

*3%3 /33+3+x6%2 /6248
IN + W

UNDER + W

*3%6 /368+S+tx3%8/38Hh4S
KEEPS + W

MAKES + W

HEATED *w

OILED + W

POLISHED + W

*5%5 /55FE
*4%0/40+E

*4%7 /4718

*4%7 /4715 hrax1/41+S

*4%5/451E
*4%3 [431E

*4%4 4415 Hkax6 . %1 /46.1

s G

*¥4%6 [46+5+x4%x7 [47+S
AND + W

*4%0/401E

BLACK + W

SHINY + W

OILED + W

POLISHED *+ W

HEATED * W

BIG t W

LITTLE + W

PROUD + W

*5%6 /56815 +x5%7 /57+S
PROUD + W

*5%8 [581E

*5%9 /59T5+x6%2/62+3
OF + W

HE + W

*7%1 /7118

*6%9/69+S

*6%4 /641E

*6%9 /69 +5+x6%5/6518
*6%7 /671E

*6%8/681E

*4%4 /44+SHk6%8.%1/68.1

*x4%68 /468+S+t%6%9 /69718
*6%4 /641E

*7%1/714S

*9%3 /9318

*7%9 /79+S

*7%7 |77+S

IT + W

%842 /82+1E

*8%0 /8018

*8%3 [831E

= %8%4/841EF
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